= MIAMI-DADE COUNTY, FLORIDA
METRO-DADE FLAGLER BUILDING

BUILDING CODE COMPLIANCE OFFICE (BCCO) 140 WEST FLAGLER STREET, SUITE 1603
PRODUCT CONTROL DIVISION MIAMI, FLORIDA 33130-1563

(305) 375-2901 FAX (305) 375-2908
NOTICE OF ACCEPTANCE (NOA) www.miamidade.gov/buildingcode
Gamma USA, Inc.

5600 N. W. 37" avenue

Miami, F1. 33142

Scork:

This NOA is being issued under the applicable rules and regulations governing the use of construction materials.
The documentation submitted has been reviewed by Miami-Dade County Product Control Division and accepted
by the Board of Rules and Appeals (BORA) to be used in Miami Dade County and other areas where allowed by
the Authority Having Jurisdiction (AHI).

This NOA shall not be valid after the expiration date stated below. The Miami-Dade County Product Control
Division (In Miami Dade County) and/or the AHJ (in areas other than Miami Dade County) reserve the right to
have this product or material tested for quality assurance purposes. If this product or material fails to perform in
the accepted manner, the manufacturer will incur the expense of such testing and the AHJ may immediately
revoke, modify, or suspend the use of such product or material within their jurisdiction. BORA reserves the right
to revoke this acceptance, if it is determined by Miami-Dade County Product Control Division that this product or
material fails to meet the requirements of the applicable building code.

This product is approved as described herein, and has been designed to comply with the Florida Building Code,
including High Velocity Hurricane Zone of the Florida Building Code.

DESCRIPTION: Series “100” Aluminum Window wall System (Steel reinforced) -S. M. Impact

APPROVAL DOCUMENT: Drawing No. T-100, titled “Test # 100 W.Wall/Spandrel”, sheets 1 through 8 of 8,
dated 06/01/2007 and last revised on 08/21/2008, prepared by Structural design Inc. , signed and sealed by Farrokh
Rasekhi, P.E., bearing the Miami-Dade County Product Control Approval stamp with the Notice of Acceptance
number and Approval date by the Miami-Dade County Product Control Division.

MISSILE IMPACT RATING: Small Missile Impact Resistant

LABELING: Each unit shall bear a permanent label with the manufacturer's name or logo, city, state and
following statement: "Miami-Dade County Product Control Approved", unless otherwise noted herein,
RENEWAL of this NOA shall be considered after a renewal application has been filed and there has been no
change in the applicable building code negatively affecting the performance of this product.

TERMINATION of this NOA will occur after the expiration date or if there has been a revision or change in the
materials, use, and/or manufacture of the product or process. Misuse of this NOA as an endorsement =- f any
product, for sales, advertising or any other purposes shall automatically terminate this NOA. Failure to comply
with any section of this NOA shall be cause for termination and removal of NOA.

ADVERTISEMENT: The NOA number preceded by the words Miami-Dade County, Florida, and followed by
the expiration date may be displayed in advertising literature. If any portion of the NOA is displayed, then it shall
be done in its entirety.

INSPECTION: A copy of this entire NOA shall be provided to the user by the manufacturer or its distributors
and shall be available for inspection at the job site at the request of the Building Official.

This NOA consists of this page 1 and evidence page E-1, as well as approval document mentioned above.

The submitted documentation was reviewed by Ishaq I. Chanda, P.E.

NOA No 08-0220.07

‘MIAMI-DADE COUNTY' Expiration Date: September 11, 2013

APPROVED Approval Date: September 11, 2008

& Page 1

‘6\”



Gamma USA, Inc.

NOTICE OF ACCEPTANCE: EVIDENCE SUBMITTED

A. DRAWINGS
1. Manufacturer's die drawings and sections.
2. Drawing No. T-100, titled “Test # 100 W.Wall /Spandrel”, sheets 1 through 8 of 8, dated
06/01/2007 and last revised on 08/21/2008, prepared by Structural design Inc., signed and
sealed by Farrokh Rasekhi, P.E.

B. TESTS
‘ 1. Test reports on 1) Air Infiltration Test, per FBC, TAS 202-94
2) Uniform Static Air Pressure Test, Loading per FBC, TAS 202-94
3) Water Resistance Test, per FBC, TAS 202-94
4) Small Missile impact Test per FBC, TAS 201-94
5) Cyclic Wind Pressure Loading per FBC, TAS 203-94
Along with marked-up drawings and installation diagram of Window Wall System, prepared
by Fenestration Testing Laboratory Inc, Test Report No. FTL-5468(FTL-07166), dated
02/05/08, signed & sealed by Carlos S. Rionda, P. E.

C. CALCULATIONS
1. Anchor verification calculations, dated 02/19/08, prepared by Structural design Inc,
signed and sealed by Farrokh Rasekhi, P.E.
2. Glazing complies with ASTME-1300-02.

D. QUALITY ASSURANCE BY:
1. Miami-Dade Building Code Compliance Office (BCCO).

E. MATERIAL CERTIFICATIONS
1. Notice of Acceptance No. 06-0216.06 issued to Solutia, for “Saflex IIIG clear & color

interlayer”, expiring on 05/21/2011

F. STATEMENTS
1. Statement letters of conformance and “No financial interest”, both dated February 14,
2008, signed and sealed by Farrokh Rasekhi, P.E.
2. Statement of compliance, issued as part of the above referenced test report issued by
Fenestration Testing Laboratory Inc.

G. OTHER
1. None

\Q‘u’t&( \. Cluw\_ka

Ishaq 1. Chanda, P.E,

Product Control Examiner

NOA No 08-0220.07

Expiration Date: September 11, 2013
Approval Date: September 11, 2008




133" - OPENING

GENERAL NOTES
-GLASS TYPE: 9/16" LAMINATED GLASS
1/4" CLEAR TEMPERED GLASS
0.060" SAFLEX IliG BY SOLUTIA Approved as complying with the
1/4" CLEAR TEMPERED GLASS Florida Buiding Code
i 105 { 106 -MAXIMUM GLASS DIMENSION 58 7/8" X 128 1/16" Date SEFP./D 0g
= -ALL ALUMINUM IS 6063 T6 NOA# _pg-—0220 O
Miami Dade Product Control
. | | . | 1 ' (© - SPANDREL GLASS TYPE: 9/16" LAMINATED GLASS [} \ f ) .
| @ HH @ m @ HH @ | 1/4" CLEAR TEMPERED GLASS B, 'ghac-, . Aans
' It g1 I|! | 0.060" SAFLEX I1IG BY SOLUTIA N
| 11} 3 1] | | 1/4" CLEAR TEMPERED GLASS
| M s Il il I -MAXIMUM GLASS DIMENSION 58 7/8" X 128 1/16"
I M s 11l i ] -ALL ALUMINUM IS 6063 T6 REVISIONS: av:
] 1] ifl 1] |
| 1| il ih | -GLAZING PENETRATION: R1 12/11/2007 K.L.
| T Th 1 | 3/8" (for jambs of spandrel glass only)
I i il i | 3/4" (for all others) R2 01/30/2008 K.L.
| iif 11 i | -1/2" MAX. SHIM SPACE R3 07/16/2008 J.F.L.
of ) ijf 2 I\ il I -CONCRETE APPLICATION (SOLID CONCRETE BEAM
5| =0 4 08/15/2008 AR,
gl a3l - ] 1 N i I AT HEAD AND SILL) R40
L 101 1k il N I -FRAME CORNERS SEAMS SEALED WITH R4 08/21/2008 AR.
| il 1 h th | SEALANT SPECTREM 2 OR SILPRUF SCS 2000
. H— 1] s sl = H s
b I 100 i - 102 {I]l = 103 {If 104 |l NOTE:
3 [ il & 1 o il | MATERIALS, INCLUDING BUT NOT LIMITED TO STEEL
N | i < 1] e ih | SCREWS, THAT COME INTO CONTACT WITH OTHER
& | 1 i o il | DISSIMILAR MATERIALS SHALL MEET THE
< |["——3®" cLass BITE il 318" GLASS BITE—— | i il | REQUIREMENTS OF 2004 FBC CODE SECTION
| - — i & | 2003.8.4 AND FBC SECTION 2326.
| 109 ¢ i ifi i 110 4 [
! Il [ Il I | SHUTTER REQUIREMENTS: _@b__&&'J_CLURAL Des N L
H I o | l I | | 1- INSTALLATION OF THIS UNIT ABOVE 30 FT CONSULTING STRUCTURAL ENGINEERS
| ! | A I | | | l 9595 N. KENDALL DR. SUITE NQ. 209
©) * O ABOVE GRADE WILL NOT REQUIRE SHUTTERS o AL DR SUTE O 2P, v 1E .
| 1l 3/8" GLASS BITE eI if [ 2- MIAMI DADE COUNTY APPROVED SHUTTERS \ /, /
I ¢ i I I WILL BE REQUIRED FOR INSTALLATION
el : : : : I : : : OF THIS UNIT BELOW 30 FT ABOVE THE GRADE | N\ preey.
N I ; ANT USED FOR TESTING :
MNE il & I I | SEAL R 8/ 21/0%
| il E I} I | MOCK-UP# 1: G.E.- SILPRUF SCS 2000 TEL: (305)595-8965 = FARROKH RASEKHI, P.E
I 3/8" GLASS BTE———|I]I} & i 1 I MOCK-UP #2: G.E. - SILPRUF SCS 2000 FAX: (305) 595-8966  FL.REG. #38001
| ih i il I MOCK-UP # 3 : TREMCO - SPECTREM 2
I 1 - 1 ] I MANUFACTURER:
. HH | i | SEALANT TYPE {1 :
TREMCO PROGLAZE Il or ULTRAGLAZE SSG 4700 (G .E.)
iv 107 108 { SEALANT TYPE 2 : a ﬂlﬂla
= TREMCO SPECTREM 2 or SILPRUF SCS 2000 (G.E.)
U.S.A
o N TR ) YT TN IR - - T TR TNINT 6130, BOUL. STE-ANNE
o ool |els|a|  w|s|e|s|s(elz|a|e|e|s|s| s|E|z|E|z|R|n(z|B|E)E ] =|8|R|2|R(E|2|3[2|B|RIR] &|5|%[8|x|%| % hae
I i ., Phone: (418) 822-1448  Fax: (418) 822-1533
1 42 q31q" 41/3 4179 1)/2 DESIGN PRESSURE RAT|NG Web site: www.gammaindustries.ca
112" E-mail: info@amma-online.com
typ } typ- typ r
TITLE:
| : .. llllllﬂlll\lll llllln 1L i il il I3 : +130PSF,-150PSF TEST # 100
57 3/8" D.L.O. 58 3/16"D.L.O. 58 3/16" D.L.O. 57 3/8"D.L.O.
| I \\ I | W.WALL / SPANDREL
112" 62" - FRAME 3B" 62" - FRAME 3p" 62" - FRAME 62" - FRAME 1/2"
i \ i 62" x 132"
249 1/8" - FRAME
\ 250 1/8" - OPENING +1 30/‘1 50 PSF
\ pyvry— SMALL IMPACT
WEDGE BOLT 3/8"x 3" HH 3/8" TO 5/8" ELEVATION
SCALE: DRAWN BY:
7/16" = 1'-0" M. POTVIN
DATE: DRAWING NO. SHEET NO.
06/01/2007 T-100 10F 8




Pa)
) // -
. A { ///
7. / /
Pa)
< . & g — /
WA = ," —
i 3/8"
AF GLASS BITE o
| 1/2" FRAME
EXT OPENING
detail 100
SPA—N%REL

i

7

GALVANIZED STEEL REINFORCEMENT
C 13/8"x53/8"x13/8"x 1/8" THICK
(IF REQUIRED - SEE ELEVATIONS)

#14 RH SS SCREW x 1" LONG

(AT REINFORCEMENT)
ALUMINUM FRAME #4458
ACCESS HOLES @5/8"

#14 HH SS SCREW x 1 1/2" LONG
#8 HH SELF DRILLING SCREW x 5/8" LONG

BACKER ROD &
SEALANT TYPE 2

#8 RH SS SCREW x 1 1/2" LONG

QTY: 3 PER VERTICAL

ALUMINUM BACKER ANGLE

/_L1/2"x1 172" x 1/16" x 1 1/4" LONG

ALUMINUM SNAP-ON CAP #4434

SEALANT TYPE 2 (SEE GENERAL NOTES)

3" LONG AT EACH GLASS CORNER

/EPDM GASKET #3054
< /—

NEOPRENE BLOCK 3/4"

SEALANT TYPE 2 (SEE GENERAL NOTES)

9/16" LAMINATED GLASS
(SEE COVER PAGE FOR
COMPLETE DESCRIPTION)

R

\
A
N
ol < \\‘ ///
% /
M//
—— = =——
3/8" 3/8"
GLASS BITE VARIE GLASS BITE
FRAME FRAME
EXT.
detail 101

GALVANIZED STEEL REINFORCEMENT

C13/8"x47/8"x13/8"x 1/4" THICK
C11/4"x43/8"x11/4" x 1/4" THICK
/—#14 HH SS SCREW x 1" LONG
//—#14 HH SS SCREW x 1 1/2" LONG

#8 HH SELF DRILLING SCREW x 5/8" LONG

/_ALUMINUM BACKER ANGLE
//_L1/2" x 7/8" x 116" x 1 3/8" LONG
// e

ALUMINUM SPLIT MULLION (FEMALE) #4420
ALUMINUM SPLIT MULLION (MALE) #4421

SEALANT TYPE 2
ALUMINUM SNAP-ON CAP #4434
EPDM GASKET #3054

SEALANT TYPE 2 (SEE GENERAL NOTES)
> 3" LONG AT EACH GLASS CORNER

NEOPRENE BLOCK 3/4"

SEALANT TYPE 2 (SEE GENERAL NOTES
v )

9/16" LAMINATED GLASS

(SEE COVER PAGE FOR
s /COMPLETE DESCRIPTION)

Approved as complying with the
Florida Buiding Code

Date_ sc) /) 200§
NOA# pg—p2720-07
Miami Dade Product Control

mft"l \.LLAMJé

REVISIONS: BY:
R112/11/2007 K.L.
R2 01/30/2008 K.L.
R3 07/16/2008 J.F.L.
R4 08/15/2008 AR.
R4 08/21/2008 AR.

_Q) STRQQ&RAL DE§IGN INC.
CONSULTING STRUCTURAL ENGINEERS
9595 M. KENDALL DR. SUITE MO. 209

MIAMI, FLOFIDA 33178 EERTIFICATE #: 880

2 /21 /02

FARROKH RASEKH!, P.E.
FL. REG. #38001

TEL: (305) 595-8965
FAX: (305) 595-8966

MANUFACTURER:

amma

U.S.A
6130, BOUL. STE-ANNE
L'ANGE GARDIEN (QUEBEC)
GOA 2K0

Phone: (418) 822-1448 Fax: (418) 822-1533
Web site: www.gammaindustries.ca
E-mail: info@gamma-online.com

TITLE:

TEST # 100
W.WALL / SPANDREL
62" x 132"
+130/-150 PSF
SMALL IMPACT
DETAILS 100 & 101

SCALE: DRAWN BY:
6" =1-0" M. POTVIN
DATE: DRAWING NO. | SHEET NO.

06/01/2007 T-100 20r8




GALVANIZED STEEL REINFORCEMENT
C 13/8"x 4 7/8"x 13/8" x 1/4" THICK od a5 comnlving with the
C11/4" x4 3/8" x 1 1/4" x 1/4" THICK B Bution e
Date__<cfl]) 2005
ALUMINUM SPLIT MULLION (FEMALE) #442( NOAT 0;’) c0220 07
ALUMINUM SPLIT MULLION (MALE) #4421 Mlamhi Dade Product Control .
%#14 HH SS SCREW x 1" LONG By_‘ﬂ“*“ﬂ( [ Lhas
- / #14 HH SS SCREW x 1 1/2" LONG
= 17
l! : / % #8 HH SELF DRILLING SCREW x 5/8" LONG e -
ALUMINUM BACKER ANGLE
/ L1/2" x 7/8" x 1/16" x 1 3/8" LONG R1 1271172007 KL.
N SEALANT TYPE 2 R2 01/30/2008 KL.
N / R3 07/16/2008 JF.L.
K ALUMINUM SNAP-ON CAP #4434
N / ’ /— EPDM GASKET #3054 RA Op oo AR
| / R4 08/21/2008 AR.
- | <& N SEALANT TYPE 2 (SEE GENERAL NOTES)
© N 3" LONG AT EACH GLASS CORNER GALVANIZED STEEL REINFORCEMENT
/_ : C 13/8" x4 7/8" x 1 3/8" x 1/4" THICK
/ /—POLYSH"V' 3/16 C11/4" x 4 3/8" x 1 1/4" x 1/4" THICK
SEALANT TYPE 2
/_ ALUMINUM SPLIT MULLION (FEMALE) #4420
V; s / ?S/LGE ég“\/',g,i ;i%g "ng,f /—ALUMINUM SPLIT MULLION (MALE) #4421
% X< e COMPLETE DESCRIPTION) /—#14 HH §S SCREW x 1" LONG b Srucnmy Deswn L
ﬂ_ =T / #14 HH SS SCREW x 1 1/2" LONG COJSULTING STRUCTURAL ENGINEERS
= —_ e < » 9596 N. KENDA\LL DR. SUITE NO. 20!
3/8" 3/4" —u_d:,ér / #8 HH SELF DRILLING SCREW x 5/8" LONG M FLORpA TS
BLASS BITE _VARIES GLASS BITE /_ ALUMINUM BACKER ANGLE N F s
- / L1/2" x 7/8" x 1/16" x 1 3/8" LONG 2
FRAME FRAME § / Y SEALANT TYPE 2 / 2(/08
EXT P 4 //?—_ ALUMINUM SNAP-ON CAP #4434 FAX. (05 5050008 FL. REG. mas00r
: N 2 7 EPDM GASKET #3054 TTy——
| <& N |/ SEALANT TYPE 2 (SEE GENERAL NOTES)
_ © N “ [~ 3 LONG AT EACH GLASS CORNER amma
detail 102 / POLYSHIM 3/16" Yy
* / 6130, BOUL. STE-ANNE
- &7 /—SEALANT TYPE 2 (SEE GENERAL NOTES) LANGE GARDIEN (QUEBEC)
GOA 2KO
7 9/16" LAMINATED GLASS . ] ]
Ak g / (SEE COVER PAGE FOR " b sie-venw gammaindtiotca
¥ \JL A A = 2 - — /COMPLETE DESCRIPTION) E-mail: mfo@amma—onhne.com
T — 7 e == TITLE:
= = TEST # 100
3/4 3/4" W.WALL / SPANDREL
GLASS BITE VARIE GLASS BITE . .
Bl 62" x 132
FRAME FRAME +130/-150 PSF
EXT SMALL IMPACT
DETAILS 102 & 103
SCALE: DRAWN BY:
. 6" = 1-0" M. POTVIN
detail 103
DATE: DRAWING NO. SHEET NO.
06/01/2007 | T-100 | 3 or 8




GALVANIZED STEEL REINFORCEMENT
C13/8"x53/8"x13/8"x 1/8" THICK
(IF REQUIRED - SEE ELEVATIONS)

#14 RH SS SCREW x 1" LONG
(AT REINFORCEMENT)

ALUMINUM FRAME #4458
ACCESS HOLES @5/8"

-

#14 HH SS SCREW x 1 1/2" LONG \
#8 HH SELF DRILLING SCREW x 5/8" LONG _\
BACKER ROD & s

SEALANT TYPE 2
ALUMINUM BACKER ANGLE

L1/2" x 1 1/2" x 1/16" x 1 1/4" LONG _\

ALUMINUM SNAP-ON CAP #4434 \\

EPDM GASKET #3054
(SEE GENERAL NOTES) SEALANT TYPE 2

N
3" LONG AT EACH GLASS CORNER \
POLYSHIM 3/16" \
SEALANT TYPE 2 \
9/16" LAMINATED GLASS
(SEE COVER PAGE FOR \‘ B

COMPLETE DESCRIPTION)

-/

Ne N
L
REVISIONS: BY:
R1 12/11/2007 K.L.
R2 01/30/2008 K.L.
N R3 07/16/2008 JFL
v R4 08/15/2008 AR.
" R4 08/21/2008 AR.
A 1 n 3" I
: : . .9
. EXT L] o SN v
e G v . v MY _'é
=3 2 Q J a C N[ Q [a)) STRUCTURAL DESIGN INC.
A . C. ™~ CORNSULTING STRLUCTURAL ENGINEERS
= 95%5 N. KENDALL DR. SUITE NO. 20
3/4" 3 £ MM!, FLORIDA 33176 ;
GLASS BITE BN FRAME CORNERS AND HORIZONTAL
. l_ e o A, MULLION SEAMS SEALED WITH A
FRAME 1/2" w
= | CLEAR SEALANT TYPE 2 g/¢,/ﬁ %
OPENING EXT ;% 8 | | PVC SHIM TEL:_ (305) 595-8965 FARROKH RASEKHI, P.E.
5 | f I ALUMINUM FRAME #4470 FAX: (305) 595-8966 FL. REG. #38001
0] I_ MANUFACTURER:
Q e 2 3/8" WEDGE BOLT (,,47 fonmn =3
. 1t
i Z| w . __BACKER ROD & Y-
detail 104 5| & u \ pint erelp amma
* (@] USA
L

Approved as complying with the
Florida Buiiding Code

Date_ SEQ 1) 2002
NOA# 0% ~02720-0/
Miami Dade Product Control

g;l‘lo&n‘d%ﬁ [ . LL P err

~~—ACCESS HOLES @1"
~~—#14 HH SS SCREW x 1 1/2" LONG

“__ALUMINUM SNAP-ON CAP
FOR SPANDREL GLASS #4469

6130, BOUL. STE-ANNE
L'ANGE GARDIEN (QUEBEC)
GOA 2K0

Phone: (418) 822-1448 Fax: (418) 822-1533
Web site: www.gammaindustries.ca
E-mail: info@amma-onﬁne.com

¥ALUMINUM SNAP-ON CAP #4434

"\_#8 RH SS SCREW x 1 1/2" LONG

detail 105

SPANDREL

QTY: 2 PER HORIZONTAL
SEALANT TYPE 2

3" LONG AT EACH GLASS CORNER
EPDM GASKET #3054

NEOPRENE BLOCK 3/4"
SEALANT TYPE 2 (SEE GENERAL NOTL

TITLE:

TEST # 100
W.WALL / SPANDREL
62" x 132"
+130/-150 PSF
SMALL IMPACT
DETAILS 104 & 105

9/16" LAMINATED GLASS
(SEE COVER PAGE FOR
COMPLETE DESCRIPTION)

SCALE: DRAWN BY:

6" =1-0" M. POTVIN
DATE: DRAWING NO. | SHEET NO.
06/01/2007 T-100 40r8




: . . > v ol Y
EXT a o - 1av v Approved as compiying wick 1i:
. - . . tying with ¢
al & a AE 2 gﬂ%
- Mt g o v
< Byj&-ﬁ}_ﬁ@,
- S
E !—— ! PVC SHIM REVISIONS: BY:
o | FRAME CORNERS AND HORIZONTAL R1 12/11/2007 KL.
< l | MULLION SEAMS SEALED WITH R2 01/30/2008 K.L.
o o |IN__AA JL__ AN CLEAR SEALANT TYPE 2 9/16" LAMINATED GLASS R3 07/16/2008 JFL
Z ™ 3/8" WEDGE BOLT (SEE COVER PAGE FOR L
| w | R4 08/15/2008 AR.
zl g __ COMPLETE DESCRIPTION)
5 2 ALUMINUM FRAME #4457 SEALANT TYPE 2 (SEE GENERAL NOTES) | R4 08/21/2008 AR
- \ N_BACKER ROD & ( )
SEALANT TYPE 2 NEOPRENE BLOCK 3/4"
™\ ACCESS HOLES 21" EPDM GASKET #3054
\ #14 HH SS SCREW x 1 1/2" LONG SEALANT TYPE 2
" LONG AT EACH GLASS CORNER
A . ™ ALUMINUM SNAP-ON CAP #4434 3
BaEE™N NN R SEALANT TYPE 2 (SEE GENERAL NOTES) 1/|‘}|""|')|(N1/21;Ii(04é:(\lEOPL5§1ENE
3" LONG AT EACH GLASS CORNER SITTING AT b Swcwra Desow L
EPDM GASKET #3054 ALUMINUM SNAP-ON CAP CON"U!.."F_!NG STRUCI‘IJRAL ENg:'INEERS
4 /_ FOR SPANDREL GLASS #4469 WiA T.FTBNRDIékIB:?%G‘-U'TE EZATE # 8803t~
| #8RHSS SCREW x 1 1/2" LONG \ /
. N .
detail 106
. 208
TEL: (305) 595-8965 FARROKH RASEKHI, P.E.

FAX: (305) 595-8966 FL. REG. #38001

MANUFACTURER:

BACKER ROD &
|-~ SEALANT TYPE 2 (SEE GENERAL NOTES)

| _—3/8" WEDGE BOLT h7 Porren fas{,@o au’{{ ma

\ FRAME CORNERS AND HORIZONTAL%' H‘ 6130, BOUL. STE-ANNE
| | —~MULLION SEAMS SEALEDWITH ~q\?” R
i l CLEAR SEALANT TYPE 2

! ALUMINUM FRAME #4470
J PVC SHIM TITLE:
TEST # 100

' B =R . W.WALL / SPANDREL
- _ g 62" x 132"
EXTIlI "l .4 +130/-150 PSF

: S . SMALL IMPACT

1 3" l DETAILS 106 & 107

POLYSHIM 1/8" ' '
SEALANT TYPE 2 (SEE LL L L < QTY: 2 PER HORIZONTAL
GENERAL NOTES) L '
9/16" LAMINATED GLASS /—ALUM|NUM SNAP-ON CAP #4434
(SEE COVER PAGE FOR | _—#14 HH SS SCREW x 1 1/2" LONG
COMPLETE DESCRIPTION)
|_— ACCESS HOLES @1
P

OPENING
FRAME

3/4"
GLASS BITE

Phone: (418) 822-1448 Fax: (418) 822-1533
Web site: www.gammaindustries.ca
E-mail: info@gamma—online.com

1/2"
[N
4
""min. EMBED.

(BN
[N

b

SCALE: DRAWN BY:

detail 107 6" =1'-0" M. POTVIN

DATE: DRAWING NO. SHEET NO.

SPANDREL 06/01/2007 T-100 50or8




9/16" LAMINATED GLASS
(SEE COVER PAGE FOR

+—SEALANT TYPE 2
-—EPDM GASKET #3054

\

COMPLETE DESCRIPTION) L— ALUMINUM SNAP-ON CAP #4434 Approved as complying with the
SEALANT TYPE 2 (SEE GENERAL NOTES) #8 RH SS SCREW x 1 1/2" LONG D " 2 002

" QTY: 2 PER HORIZONTAL NOAR_o@—022p .07
Miami Dade Product Control

ALUMINUM HORIZONTAL MULLION Divisk
By, rnélmc; | Lhaola

A\

DIMENSION
3/4"
GLASS BITE

[~ FOR SPANDREL GLASS #4442

FRAME CORNERS AND HORIZONTAL
-—MULLION SEAMS SEALED WITH
CLEAR SEALANT TYPE 2 REVISIONS: BY:

©

\

=~
—_
&

POLYSHIM 1/8"
EPDM GASKET #3054 (il
SEALANT TYPE 2 (SEE GENERAL NOTES) 1 N

/ 3" LONG AT EACH GLASS CORNER | =
1/4" X 1/2" X 4" NEOPRENE - i > X

5
S L //_ SITTING BLOCK AT Li4 B R1 12/11/2007 KL,
9% / [ ALUMINUM SNAP-ON CAP #4434 . \‘“NEOPRENE BLOCK 3/4" R2 01/30/2008 KL.
| _—#14 HH SS SCREW x 1 112" LONG 2l 1 J | 1/4" X 1/2" X 4" NEOPRENE R3 07/16/2008 JFL
\ & SITTING BLOCK AT L/4
| _—ACCESS HOLES o1 2 L ) R4 08/15/2008 AR.
| BACKER ROD & = #14 HH SS SCREW x 1 1/2" LONG
w ' L~ SEALANT TYPE 2 (SEE GENERAL NOTES) 3| ¥ o ALUMINUM SNAP-ON CAP
9l s ©Z [ FOR SPANDREL GLASS #4441
Z = , , | _— ALUMINUM FRAME #4457 3
! o
W) ‘ | _—3/8" WEDGE BOLT D
O T — - e — "
i FRAME CORNERS AND HORIZONTAL 6
. @ ’ . MULLION SEAMS SEALED WITH \9/16" LAMINATED GLASS
39 CLEAR SEALANT TYPE 2 detail 109 (SEE COVER PAGE FOR
=3 | ! elal COMPLETE DESCRIPTION)
é "_ PVC SHIM * C A STRUCTURAL DESIGN INC.
B | b e e = SPANDREL 5538 N KENDALL DR SUITENO 209
\ o \ MM, FLORIDA 33176 ;
] ' L a : YA NS /m/
Al g a . g w | — SEALANT TYPE 2
= : b=
a . . 4 Ol N . & | /FEPDM GASKET #3054 8/2/ 08
EXT)| |« -4 - 14 4 zl 39 /,_ALUM,NUM SNAP-ON CAP #4434 P o e e Hassor
' ' ' —+ 4 Q g //"" ALUMINUM HORIZONTAL MULLION #4423 | MANUFACTURER:
L
1" 3" l s FRAME CORNERS AND HORIZONTAL
- ! = | L —MULLION SEAMS SEALED WITH amma
detail 108 lIh| CLEAR SEALANT TYPE 2 -
USA
e al i _ 6130, BOUL. STE-ANNE
¥ L'ANGE GARDIEN (QUEBEC)
P EXT Q _______ = = A GOA 2K0
= Phone: (418) 822-1448 Fax: (418) 822-1533
|~ Web site: www., industries.
I .\-\\“POLYSH'M b 2ot o s o
zZ ' | 1/4"X 1/2" X 4" NEOPRENE TEST # 100
g \ SITTING BLOCK AT L/4 W.WALL / SPANDREL
pd L .
A \E#M HH SS SCREW x 1 1/2" LONG
= n "
5| Yo | SEALANT TYPE 2 62" x 132
i 3" LONG AT EACH GLASS CORNER +130/-150 PSF
o 9/16" LAMINATED GLASS MALL IMPACT
A ~—(SEE COVER PAGE FOR S
6" .| COMPLETE DESCRIPTION) DETAILS 108 @ 110
. SCALE: DRAWN BY:
detail 110 6" = 10" M. POTVIN
’ DATE: DRAWING NO. | SHEET NO.

06/01/2007 T-100 6 oF 8




0.100"

6Il
pL—1

23/8"

# 4420 ALUMINUM SPLIT MULLION (FEMALE)

0.100"

6"

[
Ik
== Lo

21/2"

#4421 ALUMINUM SPLIT MULLION (MALE)

0.079"

2 3/4"

U

] ’ 1/4"

# 4469 ALUMINUM COVER

1.3/4"

San—=na

0.079"

<

2 15/16"

1/ "

# 4441 ALUMINUM COVER

15/16"

|\:|-| LS LS
—2 ]
41/2"

# 4442 ALUMINUM HORIZONTAL MULLION

0.100"

57/8"

#4470 ALUMINUM FRAME FOR SPANDREL
HEAD AND SILL

6"

FOR SPANDREL GLASS
d -
& . 0.100"
i S

2 3/4"

# 4458 ALUMINUM STRUCTURAL JAMB

0.062"

0.062"

211/16"

—\Y

=]
11/8"

# 4434 ALUMINUM SNAP-ON CAP

0.063"

3/4"

Il

L

11/8"

L
By

ALUMINUM BACKER ANGLE
(L3/4"x1 1/8"x1/16"x3/4" LONG)

3/4" |

AT JAMBS

0.063"

I
f

i
2]

3/4"

ALUMINUM BACKER ANGLE

(L3/4"X

3/4"x1/16"x1 1/2" LONG)

AT SPLIT MULLIONS

FOR MORE SPECIFIC
DIMENSIONS PLEASE
REFER TO THE
SPECIFICATION SHEET
FOR EACH EXTRUSIONS

Approved as complying With th
Florida Buiding Code
Date EL 2 o

NOA#_o 3%;2-0% 7
Miami Dade Product Cont

REVISIONS: BY:
R1 12/11/2007 K.L
R2 01/30/2008 K.L.
R3 07/16/2008 J.F.L
R4 08/15/2008 AR.
R4 08/21/2008 AR.

D STRUCFURAL DESIGN INC.

™ CONSULTING STRUCTURAL ENGINEERS
9595 N. KENDALL DR, SUITE NO. 209

MiIAI, FLORICA 33176 CERTIFICATE #: 8803

8/2//25

TEL: (305) 595-8965 ARRQKH RASEKH|, P.E.
FAX: (305) 595-8966 FL. REG. #38001

MANUFACTURER:

amma

USA.
6130, BOUL. STE-ANNE
L'ANGE GARDIEN (QUEBEC)
GOA 2K0

Phone: (418) 822-1448 Fax: (418) 822-1533
Web site: www.gammaindustries.ca
E-mail: info@amma—online.com

TITLE:

TEST # 100
W.WALL / SPANDREL
62" x 132"
+130/-150 PSF
SMALL IMPACT
GAMMA'S EXTRUSIONS

SCALE: DRAWN BY:
6"=1-0" M. POTVIN

DATE: DRAWING NO. | SHEET NO.

06/01/2007 T-100 7oF8




11/2"

&

0.100"

—
57/8"

—5"

#4477 ALUMINUM SPLIT MULLION (MALE)
FOR SPANDREL GLASS

1/4"
0.079"

[
17/8"

#4478 ALUMINUM SNAP-ON CAP

FOR SPANDREL GLASS
41/2"
© Y =r S
rel |
~ = (UL,

# 4423 ALUMINUM HORIZONTAL MULLION

NO
SCREW
HERE\
S| ==
N
k a1
57/8"

# 4457 ALUMINUM FRAME

13/8"
PR
7777

AN SN NS

0.125"

5 3/8"

SN NN NS S NN

,ﬁ

GALVANIZED STEEL
REINFORCEMENT (JAMB)

0.062"
e —

HEAD AND SILL

13/8"
ma—

47/8"

]

0.25

NN BABAR AN

316° SPOT<TYP'

WELDED

4 3/8"

L L LA

N NN Y

11/4"

15/8"

GALVANIZED STEEL
REINFORCEMENT (SPLIT)

FOR MORE SPECIFIC
DIMENSIONS PLEASE
REFER TO THE
SPECIFICATION SHEET

FOR EACH EXTRUSIONS

0.100"

Approved as complying with the
Florida Buiding Code
Date___ =&/ /1) 2002

NOA#__ 2@ -0220:07]
Miami Dade Product Control

32'” T'lyhf«'; [_: Ui‘f‘ﬂ‘é"\‘

REVISIONS: BY:

R1 12/11/2007 K.L.
R2 01/30/2008 K.L.
R3 07/16/2008 JF.L
R4 08/15/2008 AR.
R4 08/21/2008 AR.

Al
_G) :STRUCT RAIL DESIGN INC.
CONSULTING STRUCTURAL ENGINEERS
559§ N KENDALL DR. SUITEND.
MIAMI, FLORIDA 33176 :

FARROKH RASEKH|, P.E.
FL. REG. #38001

TEL: (305) 595-8965
FAX: (305) 595-8966

MANUFACTURER:

amma

US.A.
6130, BOUL. STE-ANNE
L'ANGE GARDIEN (QUEBEC)
GOA 2K0

Phone: (418) 822-1448 Fax: (418) 822-1533
Web site: www.gammaindustries.ca
E-mail: info@gamma-online.com

TITLE:

TEST #100
W.WALL / SPANDREL
62" x 132"
+130/-150 PSF
SMALL IMPACT
GAMMA'S EXTRUSIONS

SCALE: DRAWN BY:
6" = 1'-0" M. POTVIN

DATE: DRAWING NO. | SHEET NO.
06/01/2007 T-100 8or8




